DISASTER PREVENTION RESEARCH INSTITUTE BULLETIN No. 64 DECEMBER, 1963

ON THE DIFFRACTION OF ELASTIC PLANE PULSES BY A CRACK OF A HALF PLANE (THREE DIMENSIONAL PROBLEM)

BY

MICHIYASU SHIMA

KYOTO UNIVERSITY, KYOTO, JAPAN

8-5 Km 28

85m13

DISASTER PREVENTION RESEARCH INSTITUTE KYOTO UNIVERSITY BULLETINS

Bulletin No. 64	December, 1963

On the Diffraction of Elastic Plane Pulses by a Crack of a Half Plane (Three Dimensional Problem)

By

Michiyasu Shima



On the Diffraction of Elastic Plane Pulses by a Crack of a Half Plane (Three Dimensional Problem)

By

Michiyasu Shima

Abstract

The diffraction of plane elastic longitudinal (P) and transversal (S) pulses of rectangular type propagated in a three dimensional space by a crack of a half plane, was treated by using D. S. Jones's method in the diffraction of a scalar wave. The dependence of the amplitudes of the diffracted pulses on azimuth was evaluated on the electronic computer, KDC-1.

1. Introduction

In the previous paper¹⁾, the writer has investigated the two dimensional problem of the diffraction of plane elastic P and S pulses by a crack of the half plane; the plane of incidence of the pulses is perpendicular to the edge and the stress is equal to zero on such a half plane. In this paper, the three dimensional diffraction by the crack of the half plane which is a free surface is treated by D. S. Jones's method in the diffraction of a scalar wave²⁾. That is, firstly the formal solutions for the harmonic wave are obtained by his method and, taking the inverse integral transform, the solutions are calculated for the incidence of the plane pulses of a rectangular type.

Notation :

a, b, c_R	: velocities of propagation of P , S , and Rayleigh waves,
	respectively,
k, K	: wave numbers of P and S waves, respectively,
p _{vv} , p _{vz} , p _{xy}	: components of stress tensor,
u_1, u_2, u_3	: components of displacements in the x, y, z -directions,
	respectively,

 ρ : density, and e_x, e_y, e_z : unit vectors parallel to the x, y, z-axes, respectively.

2. Formal solution

We choose the orthogonal coordinates system, the z-axis of which coincides with the edge of the crack of the half plane, as shown in Fig. 1. On both sides of the half plane, the boundary conditions are

$$\left. \begin{array}{l} p_{yy^{t}} = p_{xy^{t}} = p_{yz^{t}} = 0 \quad \text{on} \quad y = 0, \ x < 0, \\ p_{yy^{t}}, \ p_{xy^{t}}, \ p_{yz^{t}}, \ u_{1}^{t}, \ u_{2}^{t}, \ u_{3}^{t} \text{ are continuous on } y = 0, \ x > 0. \end{array} \right\}$$
(1)



The boundary condition at the edge is such that³⁾

$$p_{yy^t}, p_{xy^t}, p_{yz^t} \sim r^{-1/2} \quad \text{for} \quad r \to 0.$$
 (2)

Now split the total potentials ϕ^t and ϕ^t into the incident part and the scattered part

$$\phi^{\iota} = \phi^{0} + \phi \qquad \phi^{\iota} = \phi^{0} + \phi,$$

and derive the formal solutions for the diffraction problem of the P and S waves of the simple harmonic type incident from any direction to the edge of the crack of the half plane in a uniform isotropic elastic medium.

The displacement can be written in the form

$$\boldsymbol{u}^{t} = -\operatorname{grad} \boldsymbol{\phi}^{t} + \operatorname{rot} \boldsymbol{\phi}^{t}, \tag{3}$$

where the scalar potential ϕ^t and the vector potential ϕ^t satisfy the equations

$$\frac{1}{a^2}\frac{\partial\phi^t}{\partial t^2} = \frac{\partial^2\phi^t}{\partial x^2} + \frac{\partial^2\phi^t}{\partial y^2} + \frac{\partial^2\phi^t}{\partial z^2}, \qquad \frac{1}{b^2}\frac{\partial^2\psi^t}{\partial t^2} = \frac{\partial^2\psi^t}{\partial x^2} + \frac{\partial^2\psi^t}{\partial y^2} + \frac{\partial^2\psi^t}{\partial z^2}, \tag{4}$$

Then, consider an auxiliary coordinates system x, y, t_1 which is advancing in the direction of the negative z-axis and is connected with the above by means of the following formula.

$$x = x$$
$$y = y$$
$$t_1 = t - \frac{z}{c}.$$

From the physical point of view, the state is static in such a moving system; that is, the displacement depends only on the three variables, x, y, $t_1^{4^3}$. Inserting this result into the wave equations (4), we obtain for the potentials (or displacements)

$$\frac{1}{a_1^2} \frac{\partial^2 \phi^t}{\partial t_1^2} = \frac{\partial^2 \phi^t}{\partial x^2} + \frac{\partial^2 \phi^t}{\partial y^2}, \qquad \frac{1}{b_1^2} \frac{\partial^2 \phi^t}{\partial t_1^2} = \frac{\partial^2 \phi^t}{\partial x^2} + \frac{\partial \phi^t}{\partial y^2}, \\
\frac{1}{a_1^2} = \frac{1}{a^2} - \frac{1}{c^2}, \qquad \qquad \frac{1}{b_1^2} = \frac{1}{b^2} - \frac{1}{c^2},$$
(5)

The potentials $\phi, \, \psi$ as the superposition of plane waves can be written in the form

$$\phi = \int_{-\infty}^{\infty} J_{1,2}(\lambda, k) e^{-ia_1kt_1 + i(\lambda x + \sqrt{k^2 - \lambda^2}|y|)} dk d\lambda$$

$$\psi_1 = \int_{-\infty}^{\infty} L_{1,2}(\lambda, K) e^{-ib_1Kt_1 + i(\lambda x + \sqrt{K^2 - \lambda^2}|y|)} dK d\lambda$$

$$\psi_2 = \int_{-\infty}^{\infty} M_{1,2}(\lambda, K) e^{-ib_1Kt_1 + i(\lambda x + \sqrt{K^2 - \lambda^2}|y|)} dK d\lambda$$

$$\psi_3 = \int_{-\infty}^{\infty} N_{1,2}(\lambda, K) e^{-ib_1Kt_1 + i(\lambda x + \sqrt{K^2 - \lambda^2}|y|)} dK d\lambda$$

$$a_1k = b_1K$$
(6)

where 1 for y>0, 2 for y<0. In order to satisfy the radiation condition at $y\to\infty$, we must interpret tthe integrals in (6) as the limits of those along the path L in the complex plane shown in Fig. 2, when semicircles around seven singular points $\pm k$, $\pm K$, $\pm \lambda_R$; κ are made vanishingly small. Thus the stresses

$$p_{yy} = \int_{-\infty}^{\infty} P_{yy} e^{i\lambda x} d\lambda = 2\rho b^2 \int_{-\infty}^{\infty} \left\{ -\left(\frac{a_1^2 k^2}{c^2} - \frac{a_1^2 k^2}{2b^3} + \lambda^2\right) J_{1,2} \mp \frac{a_1 k}{c} \times \frac{1}{c} \right\} \frac{1}{c^2} + \frac{1}{2b^3} L_{1,2} \pm \frac{1}{c} + \frac{1}$$

Fig. 2.

Insert (7) into the boundary conditions, we obtain

$$-\left\{\frac{a_{1}^{2}k^{2}}{c^{2}}-\frac{a_{1}^{2}k^{2}}{2b^{2}}+\lambda^{2}\right\}J^{2}+\sqrt{K^{2}-\lambda^{2}}\left\{\lambda N^{2}-\frac{a_{1}k}{c}L^{2}\right\}=0$$

$$2\lambda\sqrt{k^{2}-\lambda^{2}}J^{1}-\sqrt{K^{2}-\lambda^{2}}\left\{\sqrt{K^{2}-\lambda^{2}}N^{1}-\frac{a_{1}k}{c}M^{1}\right\}+\lambda\left\{\lambda N^{1}-\frac{a_{1}k}{c}L^{1}\right\}=0$$

$$\frac{2a_{1}k}{c}\sqrt{k^{2}-\lambda^{2}}J^{1}-\sqrt{K^{2}-\lambda^{2}}\left\{\lambda M^{1}-\sqrt{K^{2}-\lambda^{2}}L^{1}\right\}+\frac{a_{1}k}{c}\left\{\lambda N^{1}-\frac{a_{1}k}{c}L^{1}\right\}=0.$$
(9)

Then, J, L, M, N, can be expressed in terms of three unknown functions. That is,

$$J^{1} = \left\{ -\frac{a_{1}^{2}k^{2}}{2c^{2}} + \frac{K^{2}}{2} - \lambda^{2} \right\} R_{2},$$

$$J^{2} = -\lambda\sqrt{K^{2} - \lambda^{2}} R_{1}$$

$$\lambda M^{1} - \sqrt{K^{2} - \lambda^{2}} L^{1} = \frac{a_{1}k}{c} \sqrt{k^{2} - \lambda^{2}} \sqrt{K^{2} - \lambda^{2}} R_{2}$$

$$\lambda M^{2} - \sqrt{K^{2} - \lambda^{2}} L^{2} = \lambda R_{3}$$

$$\lambda N^{1} - \frac{a_{1}k}{c} L^{1} = \sqrt{k^{2} - \lambda^{2}} \left(\frac{a_{1}k^{2}}{c^{2}} + \lambda^{2}\right) R_{2}$$
(10)

$$\begin{split} \lambda N^2 &- \frac{a_1 k}{c} L^2 = -\lambda \Big(\frac{a_1^2 k^2}{2c^2} - \frac{K^2}{2} + \lambda^2 \Big) R_1 \\ \sqrt{K^2 - \lambda^2} N^1 &- \frac{a_1 k}{c} M^1 = \lambda \sqrt{k^2 - \lambda^2} \sqrt{K^2 - \lambda^2} R_2 \\ \sqrt{K^2 - \lambda^2} N^2 &- \frac{a_1 k}{c} M^2 = -\sqrt{K^2 - \lambda^2} \Big\{ \frac{a_1^2 k^2}{2c^2} - \frac{K^2}{2} + \lambda^2 \Big\} R_1 - \frac{a_1 k}{c} R_3. \end{split}$$

Next, split the transformed stresses into the following two parts

$$P_{yy}(\lambda, y) = P_{yy}(\lambda, y) + P_{yy}(\lambda, y),$$

$$P_{yy}(\lambda, y) = \frac{1}{2\pi} \int_{-\infty}^{0} p_{yy} e^{-i\lambda x} dx,$$

$$P_{yy}(\lambda, y) = \frac{1}{2\pi} \int_{0}^{\infty} p_{yy} e^{-i\lambda x} dx,$$
(10)

For brevity, we shall sometimes write $f(\lambda)$ or f(y) instead of $f(\lambda, y)$ when there is danger of confusion. An expression like $f(\pm 0)$ will always refer to the value of $f(\lambda, y)$ for y=0, where ± 0 means the limit as y tends to zero approached from positive values of y, etc.. Now we define the λ -plane, not lower than the real axis as limits of the line L shown in Fig. 2, to be the upper one, and the plane not above the real axis to be the lower one. When the solutions satisfy the radiation condition, P_{yy}^{+} is regular in the upper plane, P_{yy}^{-} regular in the lower. We also split the displacements into the following two parts in the same way

$$U(\lambda) = U^{+}(\lambda) + U^{-}(\lambda),$$

$$U^{+}(\lambda) = \frac{1}{2\pi} \int_{-\infty}^{0} u e^{-i\lambda x} dx,$$

$$U^{-}(\lambda) = \frac{1}{2\pi} \int_{0}^{\infty} u e^{-i\lambda x} dx,$$
(11)

On applying the above definitions to (10), (11) and considering the boundary conditions, we find

$$P_{yy^{+}}(0) + P_{yy^{-}}(0) = 2\rho b^{2} \Big[\Big(\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \lambda^{2} \Big)^{2} \\ + \Big(\frac{a_{1}^{2}k^{2}}{c^{2}} + \lambda^{2} \Big) \sqrt{k^{2} - \lambda^{2}} \sqrt{K^{2} - \lambda^{2}} \Big] R_{2}$$
(12)₁
$$P_{xy^{+}}(0) + P_{xy^{-}}(0) = -2\rho b^{2} \Big[\Big(\frac{K^{2}}{2} - \lambda^{2} \Big) \Big(\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \lambda^{2} \Big) \\ + \lambda^{2} \sqrt{k^{2} - \lambda^{2}} \sqrt{K^{2} - \lambda^{2}} \Big] R_{1} + \rho b^{2} \frac{a_{1}k}{c} \sqrt{K^{2} - \lambda^{2}} R_{3}$$
(12)₂
$$P_{yz^{+}}(0) + P_{yz^{-}}(0) = \rho b \frac{a_{1}k}{c} \lambda \Big[\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \lambda^{2} \Big] R_{1} + \rho b^{2} \frac{a_{1}k}{c} \lambda^{2} \Big] R_{1} + \rho b^{2} \frac{a_{1}k}{c} \lambda^{2} + \lambda^{2} \lambda^{2} \Big] R_{1} + \rho b^{2} \frac{a_{1}k}{c} \lambda^{2} + \lambda^{2} h^{2} \Big] R_{1} + \rho b^{2} \frac{a_{1}k}{c} \lambda^{2} + \lambda^{2} h^{2} h^{2} \Big] R_{1} + \rho b^{2} \frac{a_{1}k}{c} h^{2} + \lambda^{2} h^{2} h^{2} h^{2} + \lambda^{2} h^{2} h^{2} h^{2} h^{2} h^{2} + \lambda^{2} h^{2} h^{2}$$

$$-2\sqrt{k^{3}-\lambda^{2}}\sqrt{K^{2}-\lambda^{2}}R_{1}-\rho b^{2}\lambda\sqrt{K^{2}-\lambda^{2}}R_{3}, \qquad (12)_{3}$$

$$U^{+}(+0) - U^{+}(-0) = -2i\left(\sqrt{K^{2} - \lambda^{2}}\left(\frac{a_{1}^{2}k^{2}}{2c^{2}} - \frac{K^{2}}{2}\right)R_{1} + \frac{a_{1}k}{c}R_{3}\right)$$
(13)₁

$$V^{+}(+0) - V^{+}(-0) = -i\left(\frac{a_{1}^{2}k^{2}}{c^{2}} + K^{2}\right)\sqrt{k^{2} - \lambda^{2}}R^{2}$$
(13)₂

$$W^{+}(+0) - W^{+}(-0) = 2i\lambda \left[\frac{a_{1}k}{c}\sqrt{K^{2} - \lambda^{2}}R_{1} + R_{3}\right].$$
(13)_s

For simplicity, introduce the notation

$$U^{+}(+0) - U^{+}(-0) = D_{1}^{+}$$

$$V^{+}(+0) - V^{+}(-0) = D_{2}^{+}$$

$$W^{+}(+0) - W^{+}(-0) = D_{3}^{+}.$$
(14)

Eliminate R_2 between (12) and (13). Then

$$P_{yy}^{+}(0) + P_{yy}^{-}(0) = i \frac{\rho b^2 (K^2 - k^2) \sqrt{K^2 - \lambda^2} F(\lambda) D_2^{+}}{\left(\frac{a_1^2 k^2}{c^2} + K^2\right)}$$
(15)

$$F(\lambda) = \frac{2G(\lambda)}{(K^2 - k^2)\sqrt{(k^2 - \lambda^2)(K^2 - \lambda^2)}} = F^+(\lambda)F^-(\lambda),$$
(16)

where

$$G(\lambda) = \left(\frac{K^2}{2} - \frac{a_1^2 k^2}{2c^2} - \lambda^2\right)^2 + \left(\lambda^2 + \frac{a_1^2 k^2}{c^2}\right) \sqrt{(k^2 - \lambda^2)(K^2 - \lambda^2)}.$$
 (17)

First, we investigate the diffraction resulting from the incidence of the plane longitudinal wave in the following form

and look for the function R_2 . In the equation (14), $P_{yy}^{+}(0)$ is known from the boundary condition (1). In fact

$$P_{yy}^{+}(0) = \frac{1}{2\pi} \int_{-\infty}^{0} (-p_{yy}^{0}) e^{-i\lambda x} dx = \frac{\rho b^{2}}{\pi} \int_{-\infty}^{0} A_{1} e^{i(\kappa-\lambda)x} dx = \frac{\rho b^{2} A_{1}}{\pi i(\kappa-\lambda)}$$
(19)

where

$$A_1 = -\left(\frac{K^2}{2} - \frac{a_1^2 k^2}{2c^2} - \kappa^2\right).$$

The equation (14) now becomes

$$\frac{P_{yy}^{-}(0)}{\sqrt{K-\lambda}F^{-}(\lambda)} + g_{1}(\lambda) = \frac{i\rho b^{2}(K^{2}-k^{2})\sqrt{K+\lambda}D_{2}^{+}F^{+}(\lambda)}{\left(K^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)}, \qquad \left. \right\}$$
(20)

where

8

$$g_1(\lambda) = \frac{\rho b^2 A_1}{\pi i (\kappa - \lambda) \sqrt{K - \lambda F^-(\lambda)}}.$$

Next consider the decomposition of the function $F(\lambda)$ in the form of a product $F^+(\lambda)$ $F^-(\lambda)$ by means of the splitting of $f(\lambda) = \log F(\lambda)$ into the form of a sum, where $F^+(\lambda)$ and $F^-(\lambda)$ are regular in the upper and lower half planes, respectively. The singular points of $\log F(\lambda)$ are $\pm k, \pm K, \pm \lambda_R$, zeros of $F(\lambda)$, and

$$F(\lambda) \sim 1 + \frac{\text{const.}}{\lambda^2} \quad \text{for} \quad \lambda \to \infty.$$

 $f(\lambda)$ can be written in the form by Cauchy's theorem

$$f(\lambda) = \log F(\lambda) = \frac{1}{2\pi i} \int_{\Gamma^+} \frac{\log F(z)}{z - \lambda} dz - \frac{1}{2\pi i} \int_{\Gamma^-} \frac{\log F(z)}{z - \lambda} dz$$
$$= f^+(\lambda) + f^-(\lambda), \tag{21}$$

where contour Γ^+ , Γ^- is shown in Fig. 3, λ is contained in the domain enclosed by Γ^+ and Γ^- . Taking the singular points $\pm k$, $\pm K$, $\pm \lambda_R$ into consideration, we can write (21) in the following way

Split $g_1(\lambda)$ into two parts in the same way as (21)

$$g_{1}(\lambda) = g_{1}^{+}(\lambda) + g_{1}^{-}(\lambda)$$

$$g_{1}^{+}(\lambda) = \frac{\rho b^{2} A_{1}}{\pi i \sqrt{K - \kappa} (\kappa - \lambda) F^{-}(\kappa)}$$

$$g_{1}^{-}(\lambda) = \frac{\rho b^{2} A_{1}}{\pi i (\kappa - \lambda)} \left\{ \frac{1}{\sqrt{K - \lambda} F^{-}(\lambda)} - \frac{1}{\sqrt{K - \kappa} F^{-}(\kappa)} \right\}$$
(23)

where $g_1^+(\lambda)$ is regular in the upper, $g_1^-(\lambda)$ is regular in the lower. Insert (23) in (19) and rearange

$$I_{1}(\lambda) = \frac{P_{yy}(0)}{\sqrt{K - \lambda F^{-}(\lambda)}} + g_{1}(\lambda) = \frac{i\rho b^{2}(K^{2} - k^{2})\sqrt{K + \lambda D_{2} + F^{+}(\lambda)}}{\left(K^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}\right)} - g_{1}(\lambda).$$
(24)

In this form the function $I_1(\lambda)$ is regular in the upper plane and also regular in the lower, i.e., in the whole of the plane, since these two half planes overlap. And we proceed to examine the behavior of the function $I_1(\lambda)$ as λ tends to infinity.

From the edge condition and the Abelian theorem⁵⁾

$$I_1(\lambda) \rightarrow \frac{1}{|\lambda|}$$
 for $\lambda \rightarrow \infty$ (25)

 $I_1(\lambda)$ tends to zero as λ tends to infinity in any direction. Hence, from Liouville's theorem $I_1(\lambda)$ must be identically zero, i.e.

$$R_{2} = \frac{-A_{1}\sqrt{K-\lambda}F^{-}(\lambda)}{2\pi i(\lambda-\kappa)\sqrt{K-\kappa}F^{-}(\kappa)G(\lambda)}$$
(26)

Now we seek for R_1 , R_3 . Add the $(12)_2$ and $(12)_3$ multiplied by $\frac{a_1k}{c\lambda}$ and subtract $(12)_3$ multiplied by $\frac{c\lambda}{a_1k}$ from $(12)_2$ to find

$$P_{xy}^{+}(0) + P_{xy}^{-}(0) + \frac{a_{1}k}{c\lambda} \{P_{yz}^{+}(0) + P_{yz}^{-}(0)\} = -2\rho b^{2}G(\lambda)R_{1}$$

$$P_{xy}^{+}(0) + P_{xy}^{-}(0) - \frac{c\lambda}{a_{1}k} \{P_{yz}^{+}(0) + P_{yz}^{-}(0)\} = -\rho b^{2}(K^{2} - \lambda^{2})$$

$$\times \left(\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \lambda^{2}\right)R_{1} + \rho b^{2}\sqrt{K^{2} - \lambda^{2}} \left(\frac{a_{1}k}{c} + \frac{c\lambda^{2}}{a_{1}k}\right)R_{3}.$$

$$(27)_{1}$$

Eliminate R_1 , R_3 between (13) and (27)₁, and rearange the resulting equation. Then,

$$I_{2}(\lambda) = \frac{\lambda P_{xy}(0) + \frac{a_{1}k}{c} P_{yz}(0)}{\sqrt{k - \lambda F^{-}(\lambda)}} + g_{2}(\lambda)$$

$$= i\rho b^{2} K^{-2} (K^{2} - k^{2}) \lambda \sqrt{k + \lambda} \left(D_{1} + \frac{a_{1}k}{c\lambda} D_{3} \right) F^{+}(\lambda) - g_{2}(\lambda)$$

$$g_{2}(\lambda) = \frac{\rho b^{2}}{\pi i} \frac{\lambda A_{2} + \frac{a_{1}k}{c} A_{3}}{\sqrt{k - \kappa} (\kappa - \lambda) F^{-}(\kappa)},$$

$$g_{2}(\lambda) = \frac{\rho b^{2}}{\pi i} \left(\lambda A_{2} + \frac{a_{1}k}{c} A_{3} \right) \left\{ \frac{1}{(\kappa - \lambda)} \frac{1}{\sqrt{k - \lambda} F^{-}(\lambda)} - \frac{1}{(\kappa - \lambda) \sqrt{k - \kappa} F^{-}(\kappa)} \right\}.$$
(28)

By the same procedure, we rearange (27)₂. This gives

$$I_{3}(\lambda) = \frac{P_{xy}^{-}(0) - \frac{c\lambda}{a_{1}k} P_{yz}^{-}(0)}{\sqrt{K-\lambda}} + g_{3}^{-}(\lambda) = \frac{i\rho b^{2}}{2} \sqrt{K+\lambda} \Big\{ D_{1}^{+} - \frac{c\lambda}{a_{1}k} D_{3}^{+} \Big\} - g_{3}^{+}(\lambda),$$

$$g_{3}^{+}(\lambda) = \frac{\rho b^{2} \Big(A_{2} - \frac{c\lambda}{a_{1}k} A_{3} \Big)}{\pi i \sqrt{K-\kappa} (\kappa-\lambda)}, \quad g_{3}^{-}(\lambda) = \frac{\rho b^{2} \Big(A_{2} - \frac{c\lambda}{a_{1}k} A_{3} \Big)}{\pi i (\kappa-\lambda)} \Big\{ \frac{1}{\sqrt{K-\lambda}} - \frac{1}{\sqrt{K-\kappa}} \Big\}.$$

$$(29)$$

From the edge condition

$$D_1^+ \sim \lambda^{-3/2} \qquad \text{for} \quad |\lambda| \to \infty.$$

$$(30)$$

In this from $I_2(\lambda)$, $I_3(\lambda)$ are regular. Hence, from Liouville's theorem $I_2(\lambda)$, $I_3(\lambda)$ must be constants, i.e.

$$I_{2}(\lambda) = \frac{\rho b^{2} \frac{a_{1}k}{c} B_{1}}{\pi i \sqrt{k - \kappa} F^{-}(\kappa)}$$

$$I_{3}(\lambda) = \frac{\rho b^{2} B_{2}}{\pi i \sqrt{K - \kappa}}.$$
(31)

Then,

$$\frac{iD_{1}^{+}}{2} = -\frac{\lambda\sqrt{k-\lambda}\sqrt{K^{2}-\lambda^{2}}\left(K^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)\left\{\lambda A_{2}+\frac{a_{1}k}{c}A_{3}-\frac{a_{1}k}{c}(\lambda-\kappa)B_{1}\right\}F^{-}(\lambda)}{4\pi i\sqrt{k-\kappa}\left(\lambda-\kappa\right)\left(\lambda^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)F^{-}(\kappa)G(\lambda)} -\frac{\frac{a_{1}^{2}k^{2}}{c^{2}}\left(A_{2}-\frac{c\lambda}{a_{1}k}A_{3}-(\lambda-\kappa)B_{2}\right)}{\pi i\sqrt{K-\kappa}\sqrt{K+\lambda}\left(\lambda-\kappa\right)\left(\lambda^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)}.$$
(32)

Determine the unknown constants, B_1 , B_2 so that the right hand side of (32) may satisfy the condition of regularity in the upper plane, i.e. at the point $\lambda = \frac{a_1k}{c}i$. Therefore, we must put the expression (32) equal to zero for $\lambda = \frac{a_1k}{c}i$. Then, putting both the real and imaginary parts of (32) equal to zero, we find

$$B_{1} = \sigma_{1} - \frac{\sigma_{1} + \sigma_{2}\tau_{2}}{\tau_{1}} \\ B_{2} = \sigma_{2} - (\sigma_{1}\tau_{2} + \sigma_{2}\tau_{i}) + B_{1}\tau_{2},$$
(33)

where

$$\sigma_{1} = -\frac{\frac{a_{1}k}{c}A_{2} + \kappa A_{3}}{\kappa^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}} \qquad \qquad \sigma_{2} = \frac{\frac{a_{1}k}{c}A_{3} - \kappa A_{2}}{\kappa^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}} \qquad (34)$$
$$\tau_{1} = \frac{K\sqrt{K-\kappa}}{\sqrt{2(k-\kappa)(K^{2}-k^{2})}}F^{-}(\kappa), \qquad \tau_{2} = \frac{\frac{a_{1}k}{c}\sqrt{K-\kappa}}{\sqrt{2(k-\kappa)(K^{2}-k^{2})}}F^{-}(\kappa).$$

Thus, we obtain R_1 , R_8 from (13), (14), (28), (29), (31).

$$R_{1} = \frac{\sqrt{k-\lambda} \left\{ \lambda A_{2} + \frac{a_{1}k}{c} A_{3} - \frac{a_{1}k}{c} (\lambda - \kappa) B_{1} \right\} F^{-}(\lambda)}{2\pi i \sqrt{k-\kappa} \lambda (\lambda - \kappa) F^{-}(\kappa) G(\lambda)}$$

$$R_{3} = \frac{\frac{a_{1}k}{c}}{\left(\lambda^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}\right)} \left\{ \frac{-\left(A_{2} - \frac{c\lambda}{a_{1}k} A_{3}\right) + (\lambda - \kappa) B_{2}}{\pi i (\lambda - \kappa) \sqrt{K-\kappa} \sqrt{K-\lambda}} + \sqrt{K^{2} - \lambda^{2}} \left(\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \lambda^{2}\right) R_{1} \right\}$$

$$(35)$$

$$(35)$$

$$(35)$$

$$(35)$$

$$(35)$$

$$(36)$$

Finally, the scattered part for the harmonic P plane wave is

$$\begin{split} \boldsymbol{u}^{\nu} &= -\operatorname{grad} \int_{-\infty}^{\infty} \frac{1}{2\pi i} \sqrt{\frac{K-\lambda}{K-\kappa}} \frac{F^{-}(\lambda)}{F^{-}(\kappa)} \frac{H_{1}(\lambda)}{(\lambda-\kappa)\cdot G(\lambda)} \\ &\times e^{-ia_{1}kt_{1}+i(\lambda x+\sqrt{k^{2}-\lambda^{2}}|y|)}d\lambda \\ u_{1}^{s} &= \int_{-\infty}^{\infty} \pm \frac{\frac{a_{1}^{2}k^{2}}{c^{2}}(\sqrt{k^{2}-\kappa^{2}}-B^{2})}{\pi\sqrt{K-\kappa}\sqrt{K+\lambda}\left(\lambda^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)} \\ &+ \frac{\lambda\sqrt{k-\lambda}\sqrt{K-\kappa}\sqrt{K+\lambda}\left(\lambda^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)}{2\pi\sqrt{K-\kappa}F^{-}(\kappa)(\lambda-\kappa)G(\lambda)\left(\lambda^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)}\right] \\ &\times e^{-ib_{1}Kt_{1}+i(\lambda x+\sqrt{K^{2}-\lambda^{2}}|y|)}d\lambda \\ u_{2}^{s} &= \int_{-\infty}^{\infty} \frac{\mp}{2\pi}\sqrt{\frac{k-\lambda}{K-\kappa}} \frac{F^{-}(\lambda)}{F^{-}(\kappa)} \frac{H_{2}(\lambda)}{(\lambda-\kappa)G(\lambda)} \\ &e^{-ib_{1}Kt_{1}+i(\lambda x+\sqrt{K^{2}-\lambda^{2}}|y|)}d\lambda \\ u_{3}^{s} &= \int_{-\infty}^{\infty} \left[\mp \frac{\frac{a_{1}k\lambda}{c}\{\sqrt{k^{2}-\kappa^{2}}-B_{2}\}}{\pi\sqrt{K-\kappa}\sqrt{K+\lambda}\left(\lambda^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)} + \frac{\frac{a_{1}k}{c}\sqrt{k-\lambda}\sqrt{K^{2}-\lambda^{2}}F^{-}(\lambda)H_{2}(\lambda)}{2\pi\sqrt{K-\kappa}F^{-}(\kappa)\left(\lambda^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)(\lambda-\kappa)G(\lambda)} \right] \\ &\times e^{-ib_{1}Kt_{1}+i(\lambda x+\sqrt{K^{2}-\lambda^{2}}|y|)}d\lambda \end{split}$$

$$H_{1}(\lambda) = \left(\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \kappa^{2}\right) \left(\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \lambda^{2}\right) \pm \kappa \sqrt{(k+\kappa)(K-\kappa)}$$

$$\times \left(\lambda + \frac{a_{1}^{2}k^{2}}{c^{2}\kappa}\right) \sqrt{(k-\lambda)(K+\lambda)} \pm \frac{B_{1}\frac{a_{1}k}{c}\sqrt{K-\kappa}\sqrt{(k-\kappa)(K+\lambda)(\lambda-\kappa)}}{\sqrt{k-\kappa}}$$

$$H_{2}(\lambda) = \left(\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \kappa^{2}\right) \left(\lambda^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}\right) \sqrt{(k+\lambda)(K-\lambda)}$$

$$\mp \sqrt{(k+\kappa)(K-\kappa)} \left(\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \lambda^{2}\right)$$

$$\times \left\{\lambda\kappa + \frac{a_{1}^{2}k^{2}}{c^{2}} + \frac{B_{1}\frac{a_{1}k}{c}(\lambda-\kappa)}{\sqrt{k^{2}-\kappa^{2}}}\right\}$$

$$(38)$$

Specifying the incident S wave in the form

$$\psi_{3} = e^{-ib_{1}Kt_{1} + i(\kappa x + \sqrt{K^{2} - \kappa^{2}}|y|)}$$

$$\phi = \psi_{1} = \psi_{2} = 0,$$

$$(39)$$

$$\label{eq:phi} \begin{split} \phi = \psi_1 = \psi_2 = 0, \end{split}$$
 we find also in a similar way

$$u^{P} = -\operatorname{grad} \int_{-\infty}^{\infty} \frac{1}{2\pi i} \sqrt{\frac{K-\lambda}{k-\kappa}} \frac{F^{-}(\lambda)K_{1}(\lambda)}{F^{-}(\kappa)(\lambda-\kappa)G(\lambda)}$$

$$\times e^{-ia_{3}kt_{1}+i(\lambda x+\sqrt{k^{2}-\lambda^{2}}|y|)}d\lambda$$

$$u_{1}^{s} = \int_{-\infty}^{\infty} \left[\pm \frac{\frac{a_{1}^{2}k^{2}}{c^{2}} \left\{\frac{K^{2}}{2} - \kappa^{2} + \frac{\kappa\lambda}{2} - B_{2}(\lambda-\kappa)\right\}}{\pi\sqrt{K-\kappa}\sqrt{K+\lambda}(\lambda-\kappa)\left(\lambda^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}\right)}\right]$$

$$+ \frac{\kappa\lambda\sqrt{k-\lambda}\sqrt{K^{2}-\lambda^{2}}F^{-}(\lambda)K_{2}(\lambda)}{2\pi\sqrt{k-\kappa}F^{-}(\kappa)(\lambda-\kappa)\left(\lambda^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}\right)G(\lambda)}\right]$$

$$\times e^{-ib_{1}Kt_{1}+i(\lambda x+\sqrt{K^{2}-\lambda^{2}}|y|)}d\lambda$$

$$u_{2}^{s} = \int_{-\infty}^{\infty} \frac{\mp}{2\pi}\sqrt{\frac{k-\lambda}{k-\kappa}} \frac{\kappa F^{-}(\lambda)K_{2}(\lambda)}{F^{-}(\kappa)(\lambda-\kappa)G(\lambda)}$$

$$\times e^{-ib_{1}Kt_{1}+i(\lambda x+\sqrt{K^{2}-\lambda^{2}}|y|)}d\lambda$$

$$u_{3}^{s} = \int_{-\infty}^{\infty} \left[\mp \frac{a_{1}k}{c}\lambda\left\{\frac{K^{2}}{2} - \kappa^{2} + \frac{\kappa\lambda}{2} - B_{2}(\lambda-\kappa)\right\}}{\pi\sqrt{K-\kappa}\sqrt{K+\lambda}(\lambda-\kappa)\left(\lambda^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}\right)}\right]$$

$$+ \frac{a_{1}k\kappa}{c}\sqrt{k-\lambda}\sqrt{K^{2}-\lambda^{2}}F^{-}(\lambda)K_{2}(\lambda)}{2\pi\sqrt{k-\kappa}F^{-}(\kappa)(\lambda-\kappa)\left(\lambda^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}\right)G(\lambda)}\right]$$

$$\times e^{-ib_{1}Kt_{1}+i(\lambda x+\sqrt{K^{2}-\lambda^{2}}|y|)}d\lambda,$$
(40)

$$K_{1}(\lambda) = \kappa \sqrt{(k-\kappa)(K+\kappa)} \left(\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \lambda^{2} \right)$$

$$\mp \left\{ \left(\frac{K^{2}}{2} - \kappa^{2} \right) \frac{\lambda}{\kappa} - \frac{a_{1}^{2}k^{2}}{2c^{2}} \right\} \lambda \sqrt{(k-\lambda)(K+\lambda)}$$

$$\pm B_{1} \frac{a_{1}k}{c} \sqrt{(k-\lambda)(K+\lambda)} (\lambda-\kappa)$$

$$K_{2}(\lambda) = \sqrt{(k-\kappa)(K+\kappa)} \sqrt{(k+\lambda)(K-\lambda)} \left(\lambda^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}} \right)$$

$$\pm \frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \lambda^{2} \right) \times \left\{ \left(\frac{K^{2}}{2} - \kappa^{2} \right) \frac{\lambda}{\kappa} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \frac{B_{1}a_{1}k(\lambda-\kappa)}{\kappac} \right\},$$

$$A_{1} = -\kappa \sqrt{K^{2} - \kappa^{2}} \qquad A_{2} = \frac{K^{2}}{2} - \kappa^{2} \qquad A_{3} = -\frac{a_{1}k\kappa}{2c}.$$

$$(41)$$

3. Transformation of the integrals

In this section we derive the solutions of the diffraction of the P and S pulses from the known solutions of the harmonic waves by the inverse integral transform. Assume that the incident P plane pulse has the form

$$\begin{aligned} \mathbf{u}^{0} &= \mathbf{e}D\left\{t - \frac{1}{a}(\cos a' \cdot \mathbf{x} + \cos \beta' \cdot \mathbf{y} + \cos \gamma' \cdot \mathbf{z})\right\} \\ &= \frac{e}{\pi} \int_{-\infty}^{\infty} \frac{\sin(\varepsilon a_{1}k)}{k} e^{-ia_{1}k\left(t - \frac{e\mathbf{x}}{a}\right)} dk \end{aligned}$$

$$(42)$$

where

$$e = \cos \alpha' \cdot e_x + \cos \beta' e_y + \cos \gamma' e_z,$$

$$\cos \alpha' = \cos \alpha \cdot \sin \gamma, \qquad \cos \beta' = \sin \alpha \cdot \sin \gamma, \qquad \cos \gamma' = \cos \gamma$$

$$x = r \sin \theta \cos \varphi, \qquad y = r \sin \theta \sin \varphi, \qquad z = r \cos \theta.$$

The scattered pulse for the incidence of the pulse of the form (42) can be obtained by the inverse integral transform of the solution (37) for the incidence of the harmonic wave. Namely, the P part is for $\varphi > 0$

$$\boldsymbol{u}^{P} = \operatorname{grad} \frac{1}{\pi i} \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} \frac{P(\lambda,\kappa)}{k(\lambda-\kappa)} \frac{\sin \varepsilon a_{1}k}{k} e^{-ia_{1}kt + i\left(\lambda x + \sqrt{k^{2} - \lambda^{2}}|y| + \frac{a_{1}k}{c}z\right)} \times dk \cdot d\lambda$$
$$P(\lambda,\kappa) = \frac{1}{2\pi i} \sqrt{\frac{K-\lambda}{K-\kappa}} \frac{F^{-}(\lambda)H_{1}(\lambda,\kappa)}{F^{-}(\kappa)G(\lambda)}.$$
(43)

For $\varphi < 0$, $-\varphi$ takes the places of φ .

Exchange the order of integration, change the variable λ to δ defined by $\lambda = k \cos \delta = k \cos(\varphi + is)$ and deform the contour C to the line $\varphi = \text{const.}$, $-\infty < s < \infty$ as in Fig. 4. Integrate with respect to k, to find

$$\boldsymbol{u}^{P} = -e\frac{H(a)}{G(a)}D\left(t - \frac{e \cdot \boldsymbol{x}}{a}\right) - \operatorname{grad} \int_{s_{1}}^{s_{2}} \frac{P(\delta, a)\sin\left(\varphi + is\right)}{k(\cos\left(\varphi + is\right) - \cos a)}ds$$
$$-\operatorname{grad} \int_{-s_{2}}^{-s_{1}} \frac{P(\delta_{1}a)\sin\left(\varphi + is\right)}{k(\cos\left(\varphi + is\right) - \cos a)}ds. \tag{44}$$
$$s_{1} = \cosh^{-1}\frac{a(t - \varepsilon) - r\cos\gamma\cos\theta}{r\sin\gamma\sin\theta}, \qquad s_{2} = \cosh^{-1}\frac{a(t + \varepsilon) - r\cos\gamma\cos\theta}{r\sin\gamma\sin\theta}$$
$$\kappa = k\cos a = K\cos \beta.$$

where the first term expresses the reflected pulse and vanishes for $|\varphi| < a$, and the second and the third express the diffracted pulse and are the complex conjugate of each other.



Next, we obtain the S part of the scattered pulse in a similar way for $\varphi \! > \! 0$

$$u_{i}^{s} = \frac{1}{\pi} \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} \frac{Q_{i}(\lambda,\kappa)}{k(\lambda-\kappa)} \frac{\sin \varepsilon b_{i}K}{K} e^{-ib_{i}Kt+i\left(\lambda x+\sqrt{K^{2}-\lambda^{2}}|y|+\frac{a_{1}k}{c}z\right)} dKd\lambda,$$

$$Q_{i} = \pm \frac{\frac{a_{1}^{2}k^{2}}{c^{2}}(\sqrt{k^{2}-\kappa^{2}}-B_{2})(\lambda-\kappa)}{\pi i\sqrt{K-\kappa}\sqrt{K+\lambda}\left(\lambda^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)} + \frac{\lambda\sqrt{k-\lambda}\sqrt{K^{2}-\lambda^{2}}F^{-}(\lambda)H_{2}(\lambda)}{2\pi i\sqrt{K-\kappa}F^{-}(\kappa)\left(\lambda^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)}G(\lambda)}$$

$$Q_{2} = \mp \frac{1}{2\pi i}\sqrt{\frac{k-\lambda}{K-\kappa}}\frac{F^{-}(\lambda)H_{2}(\lambda)}{F^{-}(\kappa)G(\lambda)}$$

$$Q_{3} = \mp \frac{\frac{a_{1}k}{c} \lambda \{\sqrt{k^{2}-\kappa^{2}}-B_{2}\}(\lambda-\kappa)}{\pi i \sqrt{K-\kappa} \sqrt{K+\lambda} \left(\lambda^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)} + \frac{\frac{a_{1}k}{c} \sqrt{k-\lambda} \sqrt{K^{2}-\lambda^{2}}F^{-}(\lambda)H_{2}(\lambda)}{2\pi i \sqrt{K-\kappa}F^{-}(\kappa) \left(\lambda^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)G(\lambda)}.$$

Exchange the order of integration and transform the contour in λ plane to the path in δ' plane defined by $\lambda = K \cos \delta' = K \cos (\varphi + is)$ as shown in Fig. 5.

$$\begin{split} u_{1}^{s} &= -\frac{\kappa \sqrt{k-\kappa} \sqrt{K+\kappa} H_{2}(\kappa)}{\left(\kappa^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}\right) G(\kappa)} D(t-\epsilon'x) - 2Re \int_{s_{1}}^{s_{2}} \frac{iQ_{1}(\delta',\kappa) \sin(\varphi+is)}{k(\cos(\varphi+is)-\cos\beta)} ds \\ &- \frac{1}{\pi} \int_{-s_{2}'}^{-s_{1}'} \frac{\lambda' \sqrt{k-\lambda'} \sqrt{K^{2}-\lambda'^{2}} F^{-}(\lambda') \overline{H}_{2}(\lambda')}{\sqrt{K-\kappa} F^{-}(\kappa) \left(\lambda'^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}\right) k(\cos(\varphi+s)-\cos\beta)} ds \\ u_{2}^{s} &= \pm \sqrt{\frac{k-\kappa}{K-\kappa}} \frac{H_{2}(\kappa)}{G(\kappa)} D(t-\epsilon'x) - 2Re \int_{s_{1}}^{s_{2}} \frac{iQ_{2}(\delta',\kappa) \sin(\varphi+is)}{k(\cos(\varphi+is)-\cos\beta)} ds \\ &\pm \frac{1}{\pi} \int_{-s_{2}'}^{-s_{1}'} \sqrt{\frac{k-\lambda'}{K-\kappa}} \frac{F^{-}(\lambda') \overline{H}_{2}(\lambda')}{F^{-}(\kappa) k(\cos(\varphi+s)-\cos\beta)} ds \\ u_{3}^{s} &= -\frac{\frac{a_{k}}{c} \sqrt{k-\kappa} \sqrt{K+\kappa} H^{2}(\kappa)}{\left(\kappa^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}\right) G(\kappa)} D(t-\epsilon'x) - 2Re \int_{s_{1}}^{s_{2}} \frac{iQ_{3}(\delta',\kappa) \sin(\varphi+is)}{k(\cos(\varphi+is)-\cos\beta)} ds \\ &- \frac{1}{\pi} \int_{-s_{2}'}^{-s_{1}'} \frac{\frac{a_{1}k}{c} \sqrt{k-\lambda'} \sqrt{K^{2}-\lambda'^{2}} F^{-}(\lambda') \overline{H}_{2}(\lambda')}{\sqrt{K-\kappa} F^{-}(\kappa) \left(\lambda'^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}\right) k(\cos(\varphi+s)-\cos\beta)} ds, \\ &\overline{H}_{2}(\lambda') &= \frac{\left(\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \kappa^{2}\right) \left(\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \lambda'^{2}\right)^{4} + \left(\lambda^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}}\right)^{2} (\lambda'^{2} - \lambda'^{2}) (K^{2} - \lambda'^{2}) \end{split}$$

$$\pm \sqrt{(k+\kappa)(K-\kappa)} \left(\frac{K^2}{2} - \frac{a_1^2 k^2}{2c^2} - \lambda^2\right) \left\{ \lambda' \kappa + \frac{a_1^2 k^2}{c^2} + \frac{B_1 \frac{a_1 k}{c} (\lambda' - \kappa)}{\sqrt{k^2 - \kappa^2}} \right\}$$

$$\frac{\times \left(\lambda^{\prime 2} + \frac{a_1^2 k^2}{c^2}\right) \sqrt{(\lambda^{\prime 2} - k^2)(K^2 - \lambda^{\prime 2})}}{(K^2 - \lambda^{\prime 2})},\tag{47}$$

$$\begin{split} \lambda' &= K \cos \left(\varphi + \mathrm{s} \right), \\ s_1' &= \cos^{-1} \left(\frac{b_1(t_1 - \varepsilon)}{r \sin \theta} \right) \qquad s_2' &= \cos^{-1} \left(\frac{b_1(t_1 - \varepsilon)}{r \sin \theta} \right), \end{split}$$

$$e' = \cos a'' e_x + \cos \beta'' e_y + \cos \gamma'' e_z,$$

$$\cos a'' = \cos \beta \sin \gamma, \qquad \cos \beta'' = \sin \beta \sin \gamma, \qquad \cos \gamma'' = \cos \gamma,$$

where the first term vanishes for $\varphi > -\beta$.

In a similar way as above, we can obtain the displacements due to the incidence of the plane S pulse of the rectangular form.

Assume that the incident pulse has the form

$$u_{1^{0}} = \cos \beta'' D \left\{ t - \frac{1}{b} (\cos \alpha'' \cdot x \cos \beta'' \cdot y + \cos \gamma'' \cdot z) \right\}$$

$$u_{2^{0}} = -\cos \alpha'' D \left\{ t - \frac{1}{b} (\cos \alpha'' \cdot x + \cos \beta'' \cdot y + \cos \gamma'' \cdot z) \right\}$$

$$u_{3^{0}} = 0$$

$$(48)$$

The scattered pulse for the incidence of the pulse of form (48) can be obtained by the inverse integral transform of the solution (40). The P part is for $\varphi > 0$.

$$u^{p} = e \frac{\sqrt{K-\kappa}}{\sqrt{k-\kappa}} \frac{K_{1}(a)}{G(a)} D(t-e \cdot x)$$

$$+ 2 \operatorname{grad} Re \int_{s_{1}}^{s_{2}} \frac{P'(\delta,a) \sin (\varphi + is)}{K(\cos (\varphi + is) - \cos a)} ds,$$

$$P'(\lambda,\kappa) = \frac{1}{2\pi i} \sqrt{\frac{K-\lambda}{k-\kappa}} \frac{F^{-}(\lambda) K_{1}(\lambda,\kappa)}{F^{-}(\kappa) G(\lambda)},$$

$$(49)$$

where the first term expresses the reflected pulse and vanishes for $\varphi > -\alpha$, the second expresses the diffracted pulse.

Transform in the same way as the case of the S part for the incidence of the P pulse, then the S part is for $\varphi > 0$

$$u_{1}^{s} = -\frac{\kappa^{2}\sqrt{K^{2}-\kappa^{2}}K_{2}(\kappa)}{\left(\kappa^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)G(\kappa)}D(t-e'x) - 2Re\int_{s_{1}}^{s_{2}}\frac{i\dot{Q}'_{1}(\delta',\kappa)\sin(\varphi+is)}{K(\cos(\varphi+is)-\cos\beta)}ds$$
$$-\frac{1}{\pi}\int_{-s_{2}'}^{-s_{1}'}\frac{\kappa\lambda'\sqrt{k-\lambda'}\sqrt{K^{2}-\lambda'^{2}}F^{-}(\lambda')\overline{K}_{2}(\lambda')}{\sqrt{k-\kappa}F^{-}(\kappa)\left(\lambda'^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)K(\cos(\varphi+is)-\cos\beta)}ds$$
$$u_{2}^{s} = \pm\frac{\kappa K_{2}(\kappa)}{G(\kappa)}D(t-e'x)\pm 2Re\int_{s_{1}}^{s_{2}}\frac{iQ'_{2}(\delta',\kappa)\sin(\varphi+is)}{K(\cos(\varphi+is)-\cos\beta)}ds$$
$$\pm\frac{\kappa}{\pi}\int_{-s_{2}'}^{-s_{1}'}\sqrt{\frac{k-\lambda'}{k-\kappa}}\frac{F^{-}(\lambda')\overline{K}_{2}(\lambda')}{F(\kappa)K(\cos(\varphi+is)-\cos\beta)}ds$$

$$u_{3}^{s} = -\frac{\frac{a_{1}k}{c}\kappa\sqrt{K^{2}-\kappa^{2}}K_{2}(\kappa)}{\left(\kappa^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)G(\kappa)}D(t-e'\mathbf{x}) - 2Re\int_{s_{1}}^{s_{2}}\frac{iQ'_{3}(\delta',\kappa)\sin(\varphi+is)}{K(\cos(\varphi+is)-\cos\beta)}ds$$
$$-\frac{1}{\pi}\int_{-s_{2}'}^{-s_{1}'}\frac{\frac{a_{1}k}{c}\kappa\sqrt{k-\lambda'}\sqrt{K^{2}-\lambda'^{2}}F^{-}(\lambda')\overline{K}_{2}(\lambda')}{\sqrt{k-\kappa}F^{-}(\kappa)\left(\lambda'^{2}+\frac{a_{1}^{2}k^{2}}{c^{2}}\right)K(\cos(\varphi+is)-\cos\beta)}ds,$$
(50)

$$\begin{aligned} Q_{1}' &= \pm \frac{\frac{a_{1}^{2}k^{2}}{c^{2}} \left\{ \frac{K^{2}}{2} - \kappa^{2} + \frac{\kappa\lambda}{2} - B^{2}(\lambda - \kappa) \right\}}{\pi i \sqrt{K - \kappa} \sqrt{K + \lambda} \left(\lambda^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}} \right)} + \frac{\kappa \lambda \sqrt{k - \lambda} \sqrt{K^{2} - \lambda^{2}} F^{-}(\lambda) K_{2}(\lambda)}{2\pi i \sqrt{k - \kappa} F^{-}(\kappa) \left(\lambda^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}} \right) G(\lambda)} \\ Q_{2}' &= \mp \frac{\kappa}{2\pi i} \sqrt{\frac{k - \lambda}{k - \kappa}} \frac{F^{-}(\lambda) K_{2}(\lambda)}{F^{-}(\kappa) G(\lambda)} \\ Q_{3}' &= \mp \frac{\frac{a_{1}k}{c} \lambda \left\{ \frac{K^{2}}{2} - \kappa^{2} + \frac{\kappa\lambda}{2} - B_{2}(\lambda - \kappa) \right\}}{\pi i \sqrt{K - \kappa} \sqrt{K + \lambda} \left(\lambda^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}} \right)} + \frac{\frac{a_{1}k}{c} \kappa \sqrt{k - \lambda} \sqrt{K^{2} - \lambda^{2}} F^{-}(\lambda) K_{2}(\lambda)}{2\pi i \sqrt{k - \kappa} F^{-}(\kappa) \left(\lambda^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}} \right) G(\lambda)} \\ \overline{K}_{2}(\lambda') &= \sqrt{(k - \kappa) (K - \kappa)} \sqrt{(-k - \lambda') (K - \lambda')} \left(\lambda'^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}} \right) \left(\frac{\lambda'^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \lambda'^{2} \right)^{2} \\ &= \left(\frac{K^{2}}{2} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \lambda'^{2} \right) \left(\lambda'^{2} + \frac{a_{1}^{2}k^{2}}{c^{2}} \right) \sqrt{(\lambda'^{2} - k^{2}) (K^{2} - \lambda'^{2})} \\ &\times \left\{ \left(\frac{K^{2}}{2} - \kappa^{2} \right) \frac{\lambda'}{\kappa} - \frac{a_{1}^{2}k^{2}}{2c^{2}} - \frac{B_{1}a_{1}k(\lambda' - \kappa)}{\kappa^{2}} \right\}, \end{aligned}$$

where for $|\varphi| < \beta$ the first term vanishes.

4. Numerical results

In our numerical examples, we assumed

$$K = \sqrt{11/3} k$$
$$\alpha = 30^{\circ}$$
$$\gamma = 60^{\circ}$$

We investigated the diffraction picture resulting from the incidence of the plane longitudinal pulse, where the front of the incident pulse is always a plane intersecting the z-axis at the point $z = \frac{t}{c}$. This point is a vertex of the cone occupied by the diffracted pulse. We calculated the azimuthal distribution of the displacement of the diffracted pulse, which is the second and third term in the equation (44), at $\sqrt{\frac{a\varepsilon}{\gamma}} = 0.1$ and $t = \frac{\tau}{a} + \varepsilon$ for the diffracted



a) diffracted P pulse for $\theta = 60^{\circ}$ b) diffracted S pulse for $\theta = 73^{\circ}/4'$ Fig. 6. The φ -dependence of the amplitudes of displacement of the diffracted pulse for the incidence of P pulse.



Fig. 7. The θ -dependence of the amplacement of the diffracted pulse for the incidence of P pulse.

P pulse or $t = \frac{\gamma}{b} + \varepsilon$ for the diffracted *S* pulse.

The φ -dependence of the displacements, u_1, u_2, u_3 of the diffracted pulse for θ = constant is rather similar to that of the amplitude in the case of the incidence perpendicular to the edge of the plane P pulse as shown in Fig. 6. That is, the amplitude of the diffracted P pulse increases at a uniform rate with the approach of φ to $\pm 30^{\circ}$ and the phase is reverse at the shadow boundary of the incident P pulse and the reflected P pulse; the displacements are a kind of double jerk. However, the composite displacement of this pulse with the reflected P pulse for $\varphi < 0$ or the incident pulse for $\varphi > 0$ is continuous at the boundary. While with respect to the diffracted S pulse the displacement varies continuously and becomes zero at $\varphi = 63^{\circ}6'39''$ for $\varphi > 0$, the phase is reversed at the boundary $\varphi = -63^{\circ}6'39''$ for $\varphi < 0$ and the composite displacement of this pulse with the reflected S pulse is continuous at this angle. Being different from the two dimensional problem, u_1^s , u_3^s components of the displacement of the diffracted S pulse take large values near $\varphi = \pm \frac{\pi}{2}$, respectively. These correspond to the first term of the equation Q_i .

 θ -dependence of the displacements of the diffracted pulse for $\varphi = \text{const.}$ is shown in Fig. 7. They take maximum value at $\theta = 60^{\circ}$ or 73°14′ and their phases are not reversed at this angle, which is different from their dependence on φ .

The writer wishes to express his hearty thanks to Prof. K. Sassa for his valuable suggestions.

Reference

- 1) Shima, M. : "On the Diffraction of Elastic Plane Pulses by the Crack of a Half Plane" Disaster Prevention Reseach Institute Kyoto University Bulletin No. 45 (1961).
- Jones, D. S. "A Simplifying Technique in the Solution of a Class of Diffraction Problems" Quart. J. Math. 3, 189, (1952).
- Maue, A. W. . Die Kantenbedingung in der Beugungstheorie elastischer Wellen. Z. Naturforschung, 7a, 387 (1952).
- Sobolev : Chap. 12 of book Frank, F. und Von Mises, R., "Die Differential und Integral-gleichungen der Mechanik und Physik" (Russ. transl.). ONTI (1937).
- 5) Van der Pol, B. and Bremmer, H. . Operational Calculus based on the Twosided Laplace Integral. Cambridge, (1950).

Publications of the Disaster Prevention Research

Institute

The Disaster Prevention Research Institute publishes reports of the research results in the form of bulletins. Publications not out of print may be obtained free of charge upon request to the Director, Disaster Prevention Research Institute, Kyoto University, Kyoto, Japan.

Bulletins :

- No. 1 On the Propagation of Flood Waves by Shoitiro Hayami, 1951.
- No. 2 On the Effect of Sand Storm in Controlling the Mouth of the Kiku River by Tojiro Ishihara and Yuichi Iwagaki, 1952.
- No. 3 Observation of Tidal Strain of the Earth (Part I) by Kenzo Sassa, Izuo Ozawa and Soji Yoshikawa. And Observation of Tidal Strain of the Earth by the Extensometer (Part II) by Izuo Ozawa, 1952.
- No. 4 Earthquake Damages and Elastic Properties of the Ground by Ryo Tanabashi and Hatsuo Ishizaki, 1953.
- No. 5 Some Studies on Beach Erosions by Shoitiro Hayami, Tojiro Ishihara and Yuichi Iwagaki, 1953.
- No. 6 Study on Some Phenomena Foretelling the Occurrence of Destructive Earthquakes by Eiichi Nishimura, 1953.
- No. 7 Vibration Problems of Skyscraper. Destructive Element of Seismic Waves for Structures by Ryo Tanabashi, Takuzi Kobori and Kiyoshi Kaneta, 1954.
- No. 8 Studies on the Failure and the Settlement of Foundations by Sakurō Murayama, 1954.
- No. 9 Experimental Studies on Meteorological Tsunamis Traveling up the Rivers and Canals in Osaka City by Shoitiro Hayami, Katsumasa Yano, Shohei Adachi and Hideaki Kunishi, 1955.
- No.10 Fundamental Studies on the Runoff Analysis by Characteristics by Yuichi Iwagaki, 1955.
- No.11 Fundamental Considerations on the Earthquake Resistant Properties of the Earth Dam by Motohiro Hatanaka, 1955.
- No.12 The Effect of the Moisture Content on the Strength of an Alluvial Clay by Sakurō Murayama, Kōichi Akai and Tōru Shibata, 1955.
- No.13 On Phenomena Forerunning Earthquakes by Kenzo Sassa and Eiichi Nishimura, 1956.
- No.14 A Theoretical Study on Differential Settlements of Structures by Yoshitsura Yokoo and Kunio Yamagata, 1956.
- No.15 Study on Elastic Strain of the Ground in Earth Tides by Izuo Ozawa, 1957.
- No.16 Consideration on the Mechanism of Structural Cracking of Reinforced Concrete Buildings Due to Concrete Shrinkage by Yoshitsura Yokoo and S. Tsunoda. 1957.
- No.17 On the Stress Analysis and the Stability Computation of Earth Embankments by Kōichi Akai, 1957.
- No.18 On the Numerical Solutions of Harmonic, Biharmonic and Similar Equations by the Difference Method Not through Successive Approximations by Hatsuo Ishizaki, 1957.

- No.19 On the Application of the Unit Hydrograph Method to Runoff Analysis for Rivers in Japan by Tojiro Ishihara and Akiharu Kanamaru, 1958.
- No.20 Analysis of Statically Indeterminate Structures in the Ultimate State by Rvo Tanabashi, 1958.
- No.21 The Propagation of Waves near Explosion and Fracture of Rock (I) by Soji Yoshikawa, 1958.
- No.22 On the Second Volcanic Micro-Tremor at the Volcano Aso by Michiyasu Shima, 1958.
- No.23 On the Observation of the Crustal Deformation and Meteorological Effect on It at Ide Observatory and On the Crustal Deformation Due to Full Water and Accumulating Sand in the Sabo-Dam by Michio Takada, 1958.
- No.24 On the Character of Seepage Water and Their Effect on the Stability of Earth Embankments by Köichi Akai, 1958.
- No.25 On the Thermoelasticity in the Semi-infinite Elastic Soid by Michiyasu Shima, 1958.
- No 26 On the Rheological Characters of Clay (Part 1) by Sakurō Murayama and Tōru Shibata, 1958.
- No.27 On the Observing Instruments and Tele-metrical Devices of Extensioneters and Tiltmeters at Ide Observatory and On the Crustal Strain Accompanied by a Great Earthquake by Michio Takada, 1959.
- No.28 On the Sensitivity of Clay by Shinichi Yamaguchi, 1959.
- No.29 An Analysis of the Stable Cross Section of a Stream Channel by Yuichi [wagaki and Yoshito Tsuchiya, 1959.
- No.30 Variations of Wind Pressure against Structures in the Event of Typhoons by Hatsuo Ishizaki, 1959.
- No.31 On the Possibility of the Metallic Transition of MgO Crystal at the Boundary of the Earth's Core by Tatsuhiko Wada, 1960.
- No.32 Variation of the Elastic Wave Velocities of Rocks in the Process of Deformation and Fracture under High Pressure by Shogo Matsushima, 1960.
- No.33 Basic Studies on Hydraulic Performances of Overflow Spillways and Diversion Weirs by Tojiro Ishihara, Yoshiaki Iwasa and Kazune Ihda, 1960.
- No.34 Volcanic Micro-tremors at the Volcano Aso by Michiyasu Shima, 1960.
- No.35 On the Safety of Structures Against Earthquakes by Ryo Tanabashi, 1960.
- No.36 On the Flow and Fracture of Igneous Rocks and On the Deformation and Fracture of Granite under High Confining Pressure by Shogo Matsushima, 1960.
- No.37 On the physical properties within the B-layer deduced from olivine-model and on the possibility of polymorphic transition from olivine to spinel at the 20° Discontinuity by Tatsuhiko Wada, 1960.
- No.38 On Origins of the Region C and the Core of the Earth ——Ionic-Intermetallic-Metallic Transition Hypothesis—— by Tatsuhiko Wada, 1960.
- No.39 Crustal Stucture in Wakayama District as Deduced from Local and Near Earthquake Observations by Takeshi Mikumo, 1960.
- No.40 Earthquake Resistance of Traditional Japanese Wooden Structures by Ryo Tanabashi, 1960.
- No.41 Analysis With an Application to Aseismic Design of Bridge Piers by Hisao Goto and Kiyoshi Kaneta, 1960.
- No.42 Tilting Motion of the Ground as Related to the Volcanic Activity of Mt. Aso and Micro-Process of the Tilting Motion of Ground and Structure by Yoshiro Itō 1961.
- No.43 On the Strength Distribution of the Earth's Crust and the Upper Mantle, and

the Distribution of the Great Earthquakes with Depth by Shogo Matsushima, 1961

- No.44 Observational Study on Microseisms (Part 1) by Kennosuke Okano, 1961.
- No.45 On the Diffraction of Elastic Plane Pulses by the Crack of a Half Plane by Michiyasu Shima, 1961.
- No.46 On the Observations of the Earth Tide by Means of Extensioneters in Horizontal Components by Izuo Ozawa, 1961.
- No.47 Observational Study on Microseisms (Part 2) by Kennosuke Okano, 1961.
- No.48 On the Crustal Movement Accompanying with the Recent Activity on the Volcano Sakurajima (Part 1) by Keizo Yoshikawa, 1961.
- No.49 The Ground Motion Near Explosion by Soji Yoshikawa, 1961.
- No.50 On the Crustal Movement Accompanying with the Recent Activity of the Volcano Sakurajima (Part 2) by Keizo Yoshikawa, 1961.
- No.51 Study on Geomagnetic Variation of Telluric Origin Part 1 by Junichiro Miyakoshi, 1962.
- No.52 Considerations on the Vibrational Behaviors of Earth Dams by Hatsuo Ishizaki and Naotaka Hatakeyama, 1962.
- No.53 Some Problems on Time Change of Gravity (Parts 1 and 2) by Ichiro Nakagawa, 1962.
- No.54 Nature of the Volcanic Micro-Tremors at the Volcano Aso, Part 1. Observation of a New Type of Long-Period Micro-Tremors by Long-Period Seismograph by Kosuke Kamo, 1962.
- No.55 Nature of the Volcanic Micro-Tremors at the Volcano Aso, Part 2. Some Natures of the Volcanic Micro-Tremors of the 1st kind at the Volcano Aso by Kosuke Kamo, 1962.
- No.56 Nonlinear Torsional Vibration of Structures due to an Earthquake by Ryo Tanabashi, Takuji Kobori and Kiyoshi Kaneta, 1962.
- No.57 Some Problems on Time Change of Gravity (Parts 3, 4 and 5) by Ichiro Nakagawa, 1962.
- No.58 A Rotational Strain Seismometer by Hikaru Watanabe, 1962.
- No.59 Hydraulic Model Experiment Involving Tidal Motion (Parts 1, 2, 3 and 4) by Haruo Higuchi, 1963.
- No.60 The Effect of Surface Temperature on the Crustal Deformations by Shokichi Nakano, 1963.
- No.61 An Experimental Study on the Generation and Growth of Wind Waves by Hideaki Kunishi, 1963.
- No.62. The Crustal Deformations due to the Source of Crack Type (1) by Shokichi Nakano, 1963.
- No.63. Basic Studies on the Criterion for Scour Resulting from Flows Downstream of an Outlet by Yoshito Tsuchiya, 1963.
- No.64 On the Diffraction of Elastic Plane Pulses by a Crack of a Half Plane (Three Dimensional Problem), 1963.

Bulletin No	. 64	Publish	ned De	eceml	ber, 1963
昭和	38年12	月 5	H	ED	刷
昭和	38年12	月 10	日	発	行
編輯身発行者	液 京	都大學	学防了	定研	究所
印刷者	皆 山	代	多	Ξ	良侈
印刷月	ĥгЩ	京都市上 代印	京区寺之	内通小	小西天 会社